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ALGEBRAIC EXPRESSIONS

1. Find the number of terms in following
algebraic expressions. 5zy?, 5zy>-9x, 3xy + 4y -

8, 9z +2x+pq+q.


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_lWULaNADqgV9

° Watch Video Solution

2. Take different values for x and find values of

3x + 5.

o Watch Video Solution

3. Find the like terms in the following: azx? Y,

2X, 5y2, -9w2,-6x, 7xy, 18y2.

° Watch Video Solution



https://dl.doubtnut.com/l/_lWULaNADqgV9
https://dl.doubtnut.com/l/_IfVptnVxWTNw
https://dl.doubtnut.com/l/_zGIUizFOZd5I
https://dl.doubtnut.com/l/_e6y6wRKgvH0f

4. Write 3 like terms for 5pq2

° Watch Video Solution

5.Add 5z%+ 3xy + 2y* and 2y*- xy + 4z>.

° Watch Video Solution

6. Sheela says the sum of 2pq and 4pq is 8102q2

is she right ? Give your explanation.

o Watch Video Solution



https://dl.doubtnut.com/l/_e6y6wRKgvH0f
https://dl.doubtnut.com/l/_dk0EehvJJAog
https://dl.doubtnut.com/l/_AwcvMmNX1nlU

7. Rehman added 4x and 7y and got 11xy. Do

you agree with Rehman?

° Watch Video Solution

8. Subtract 2xy +9z2 from 12xy + 4z - 3y

° Watch Video Solution



https://dl.doubtnut.com/l/_AwcvMmNX1nlU
https://dl.doubtnut.com/l/_VOgiS7e1Lnom
https://dl.doubtnut.com/l/_Sbxw6fitSypM

9. IfA= 2y> + 3x-z2B = 3z2- y? and C =5m2-3xy

then find A+B

o Watch Video Solution

10. IfA= 2y* + 3x-zB = 3z°- y* and C =5z°-3xy

then find A-B

o Watch Video Solution



https://dl.doubtnut.com/l/_d4gTsBtjHGFf
https://dl.doubtnut.com/l/_1belzFsd0qWs

1. IfA= 2y% + 3x-z2B = 32%- y* and C =5m2-3xy

then find B+C

o Watch Video Solution

12. IfA= 2y* + 3x-z%B = 32%- y* and C =5z°-3xy

then find B-C

o Watch Video Solution



https://dl.doubtnut.com/l/_LcMgJssJyPCJ
https://dl.doubtnut.com/l/_ReE6nf5QiGWn

13. IfA= 2y% + 3x-2?B = 3z2-y* and C =5m2-3xy

then find A+B+C

o Watch Video Solution

14. IfA= 2y* + 3x-z°B = 3z°- y* and C =5z°-3xy

then find A+B-C

o Watch Video Solution



https://dl.doubtnut.com/l/_PPOFAdcLM6Jg
https://dl.doubtnut.com/l/_uPqDWFGJ1GYQ

15. Write an algebraic expression using speed
and time to calculate the distance simple
interest to be paid, using principal, time and

the rate of simple interest.

° Watch Video Solution

16. Can you think of two more such situations,
where we can express in algebraic

expressions?

° Watch Video Solution



https://dl.doubtnut.com/l/_8KYptGOzFwYR
https://dl.doubtnut.com/l/_CYKoHgM51NzX

17. Complete the table.

aL | ) Mow.of lines of
M. | ! symmelry
'| Equilateral triangle
[sosceles triangle
Ehombiis

Hexagon
Circle

il ol o

o Watch Video Solution

18. Check whether you always get a monomial

when two monomials are multiplied.


https://dl.doubtnut.com/l/_CYKoHgM51NzX
https://dl.doubtnut.com/l/_Fj7NWyvRm22D
https://dl.doubtnut.com/l/_09UH19bBvO4o

° Watch Video Solution

19. Product of two monomials is a monomial ?

You can check this.

o Watch Video Solution

20. Find the product of (-4xy)(2x - y).

o Watch Video Solution



https://dl.doubtnut.com/l/_09UH19bBvO4o
https://dl.doubtnut.com/l/_pFwKSfpf2j2f
https://dl.doubtnut.com/l/_KftvQKnTMz0Y

21. Find the product of (3m-2n2) (-7mn).

o Watch Video Solution

22. Find the product: 3x(4ax + 8by)

o Watch Video Solution

23. Find the product: 4a2b(a - 3b)

o Watch Video Solution



https://dl.doubtnut.com/l/_vMsXrkuHgL2h
https://dl.doubtnut.com/l/_Oz24k9rOhNAO
https://dl.doubtnut.com/l/_o6ktwu5eAQ6D

24. Find the product: (p + 3¢%) Pq

o Watch Video Solution

25. Find the product: (m>+ n3)5mn2.

o Watch Video Solution

26. Find the number of maximum terms in the

product of a monomial and a binomial?

o Watch Video Solution



https://dl.doubtnut.com/l/_fSTJhCZ0WTTp
https://dl.doubtnut.com/l/_wYlwIa8aBjZ8
https://dl.doubtnut.com/l/_B5P5yenHJQMt

27. Simplify: 4y(3y + 4)

° Watch Video Solution

28. Simplify x(22*-7x + 3) and find the values of

it for x=1.

o Watch Video Solution



https://dl.doubtnut.com/l/_B5P5yenHJQMt
https://dl.doubtnut.com/l/_0SDZnJdh0qpM
https://dl.doubtnut.com/l/_ALPeEIPWtRYs

29. Simplify x(2z27x + 3) and find the values of

it for x=0.

o Watch Video Solution

30. Add the product:a(a-b), b(b-c), c(c-a).

o Watch Video Solution

31. Add the product: x(x+y-r).

o Watch Video Solution



https://dl.doubtnut.com/l/_mx07ALcpANWz
https://dl.doubtnut.com/l/_d8CfM7To7wEe
https://dl.doubtnut.com/l/_lljHJizpYhS6

32. Subtract the product of 2x(5x-y) from

product of 3x(x + 2y).

o Watch Video Solution

33. Subtract 3k(5k-1+3m) from 6k(2k +31-2m).

o Watch Video Solution

34. Simplify: a® (a-b+c)+ b*(a+b-c)-c*(a-b-c).



https://dl.doubtnut.com/l/_lljHJizpYhS6
https://dl.doubtnut.com/l/_Z8Bl19tMPtP9
https://dl.doubtnut.com/l/_9z2FtSIdmPh9
https://dl.doubtnut.com/l/_NywbKiT6CQfD

o Watch Video Solution

35. Find the product: (a - b) (2a + 4b)

o Watch Video Solution

36. Find the product:(3x +2y) (3y-4x),

o Watch Video Solution

37.Find the product: (2m-l)(2I-m),



https://dl.doubtnut.com/l/_NywbKiT6CQfD
https://dl.doubtnut.com/l/_zMkGrGf2BZP4
https://dl.doubtnut.com/l/_paAfEEwlKfLy
https://dl.doubtnut.com/l/_hFpTC0rrnGwy

o Watch Video Solution

38. Find the product:(k+3m)(3m-k).

o Watch Video Solution

39. How many number of maximum terms will

be there in the product of two binomials?

o Watch Video Solution



https://dl.doubtnut.com/l/_hFpTC0rrnGwy
https://dl.doubtnut.com/l/_vf97HjsibX0c
https://dl.doubtnut.com/l/_BeKdlAS3LgOX

40. Multiply the binomials:2a-9 and 3a +4.

o Watch Video Solution

41. Multiply the binomials: x-2y and 2x -y

o Watch Video Solution

42. Multiply the binomials:kl+ Im and k-l

o Watch Video Solution



https://dl.doubtnut.com/l/_jHQDOefdseBo
https://dl.doubtnut.com/l/_bC3SpA2aDNgJ
https://dl.doubtnut.com/l/_a7qiRPn8ogrC
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43. Multiply the binomials:m -n? and m+n

o Watch Video Solution

44.Find the product:(x+y) (2x-5y + 3Xy)

o Watch Video Solution

45. Find the product:(a-2b+3c)(ab2-a2b)

o Watch Video Solution



https://dl.doubtnut.com/l/_wiqbWoZUREDi
https://dl.doubtnut.com/l/_K8ERHqB4NxtE
https://dl.doubtnut.com/l/_8UwYYM7Rj7iH

46. Find the product:(mn-kl+km) (kl-Im)

o Watch Video Solution

47.Find the product: (p°+¢°)(p-5q+6r)

o Watch Video Solution

48. Simplify the following:(x-2y) (y-3x)+(x+y) (x-

3y)- (y-3x)(4x-5y).

o Watch Video Solution



https://dl.doubtnut.com/l/_1Up6EapRfDiZ
https://dl.doubtnut.com/l/_XuIlsG62nOI4
https://dl.doubtnut.com/l/_SiTGFdzjX5Ms

49, Simplify the following: (m+n) (m?-mn+n?).

o Watch Video Solution

50. Simplify the following:(a-2b+5c) (a-b)-(a-b-c)

(2a + 3c) + (6a + b) (2c-3a-5b)

o Watch Video Solution



https://dl.doubtnut.com/l/_SiTGFdzjX5Ms
https://dl.doubtnut.com/l/_HGfOIBCaIssi
https://dl.doubtnut.com/l/_T32LnqX3xeAn

51. Simplify the following:(pg-gqr+ pr) (pq+qr)-

(pr+pq) (p+q-n).

° Watch Video Solution

52.1f a, b, c are positive real numbers such that

a+b—c a—-b+c —a+bdb+c
C b a
(a+b)(b+c)(c+ a)

abe

find the

value of

° Watch Video Solution



https://dl.doubtnut.com/l/_Q7EokIezeLcm
https://dl.doubtnut.com/l/_ybi8v9sfIk3y

53.Taking a, b, c as positive integers, verify the
following whether they are identities or not?

(a — b)*=a?- 2ab + b?

o Watch Video Solution

54.Taking a, b, c as positive integers, verify the
following whether they are identities or not?

(a+b) (a - b) =a?-b°

o Watch Video Solution



https://dl.doubtnut.com/l/_ZZreYHaBsTOo
https://dl.doubtnut.com/l/_AmBDr5xoFFc3
https://dl.doubtnut.com/l/_dmT0kvP18OOo

55. Taking a, b, c as positive integers, verify the
following whether they are identities or not?

(a + b+ ¢)*=a®+ b*+c?+2ab + 2bc + 2ca.

o Watch Video Solution

56. Now take x=2, a= 1 and b = 3, verify the
identity (x + a) (x+b)=z’+ (a+b)x+ab.What do

you observe? Is LHS=RHS?

o Watch Video Solution



https://dl.doubtnut.com/l/_dmT0kvP18OOo
https://dl.doubtnut.com/l/_2XeoRIiAp1ih
https://dl.doubtnut.com/l/_iGKg3HI93ieO

57. Now take x=2, a= 1 and b = 3, verify the
identity (x + a) (x+b)=z’+ (a+b)x+ab.What do

you observe? Is LHS=RHS?

o Watch Video Solution

58. Now take x=2, a= 1 and b = 3, verify the
identity (x + a) (x+b)=z’+ (a+b)x+ab. Is it

always LHS =RHS for all values of a and b?

o Watch Video Solution



https://dl.doubtnut.com/l/_iGKg3HI93ieO
https://dl.doubtnut.com/l/_HdUJtz3PNIud

59. Consider (x+p) (x+q) = z? + (p+qg)x + pqg. Put

q instead of 'p' what do you observe?

o Watch Video Solution

60. Consider (x+p) (x+q) = z* + (p+q)x + pq. Put

q instead of 'p' what do you observe?

o Watch Video Solution



https://dl.doubtnut.com/l/_qehgACOcPkBZ
https://dl.doubtnut.com/l/_NzfIb8HFzTGe

61. Consider (x+p) (x+q) = z? + (p+qg)x + pq. Put

q instead of 'p' what do you observe?

o Watch Video Solution

1. Find the product of 5x, 6y and 7z.

o Watch Video Solution



https://dl.doubtnut.com/l/_iOPm0ZAN094v
https://dl.doubtnut.com/l/_HJdVeEuIDKD5

2.Find 322y x 4zy? x Tz3y°

o Watch Video Solution

3. Find the product of 3x,-4xy, 2:132,3y2, 5x 3y2

o Watch Video Solution

4. Find the product of the following pairs:(i) 6,

7k,

o Watch Video Solution



https://dl.doubtnut.com/l/_FIxKn4bd5SIc
https://dl.doubtnut.com/l/_kOWodXZqnjkk
https://dl.doubtnut.com/l/_mrtYMJQNiAju

5. Find the product of the following pairs:

-31,-2m,

o Watch Video Solution

6. Find the product of the following pairs:-5t?

-3t?

o Watch Video Solution



https://dl.doubtnut.com/l/_mrtYMJQNiAju
https://dl.doubtnut.com/l/_tEfjKFvTTKOT
https://dl.doubtnut.com/l/_9grCOMw3M25n

7. Find the product of the following

pairs:6n,3m

o Watch Video Solution

8. Find the product of the following pairs: -5p

,-2 P

o Watch Video Solution



https://dl.doubtnut.com/l/_vayQI7dCQsBr
https://dl.doubtnut.com/l/_vIomLKnDlCR1

9. Find the product of the following

monomials: xy, 22y, Xy, X

o Watch Video Solution

10. Find the product of the following

monomials :a, b, ab, a®b, ab®

o Watch Video Solution



https://dl.doubtnut.com/l/_DmBrKYgTj4U0
https://dl.doubtnut.com/l/_bOwEparoBIKe

1. Find the product of the following

monomials :kl, Im, klm, kim

o Watch Video Solution

12. Find the product of the following

monomials :pq, pqr, r

o Watch Video Solution



https://dl.doubtnut.com/l/_ILqDzmAAej64
https://dl.doubtnut.com/l/_0MbKjWKn2zD4

13. Find the product of the following

monomials :-3a,4ab, -6¢, d

o Watch Video Solution

14. If A= xy, B=yz and C= zx, then find ABC=_

o Watch Video Solution

PTR

15. If P=4z? T=5x and R = 5y, then
100



https://dl.doubtnut.com/l/_e3q971UPkTZ2
https://dl.doubtnut.com/l/_3p7MZB9izAsS
https://dl.doubtnut.com/l/_lg1N3qNiZPL0

o Watch Video Solution

16. Write some monomials of your own and

find their products.

o Watch Video Solution

17.Find (3z + 4y)°.

o Watch Video Solution



https://dl.doubtnut.com/l/_lg1N3qNiZPL0
https://dl.doubtnut.com/l/_eXGylNBbcO25
https://dl.doubtnut.com/l/_kelmQ8inJX4q

18. Find 2042.

o Watch Video Solution

19. Find: (5m + 7n)?

o Watch Video Solution

20. Find: '(6kl+ 7mn)?

o Watch Video Solution



https://dl.doubtnut.com/l/_MlK0wZNkv5mY
https://dl.doubtnut.com/l/_oiBSIEtw7Lg7
https://dl.doubtnut.com/l/_K08YfMNQ353i

21. Find: (5a’+6b?%)?

o Watch Video Solution

22.Find: 302 ~ 2

o Watch Video Solution

23.Find: 807 ~ 2

o Watch Video Solution



https://dl.doubtnut.com/l/_g348BOq71LST
https://dl.doubtnut.com/l/_YFsujtVKVml2
https://dl.doubtnut.com/l/_P7OFrffKC0oN

24.Find: 704 ~ 2

o Watch Video Solution

25. Verify the identity: (a — b)2=a2-2ab + b7

where a=3m and b = 5n.

o Watch Video Solution

26. Compute (3m — 2n)°

o Watch Video Solution



https://dl.doubtnut.com/l/_twdCLzCOWFDg
https://dl.doubtnut.com/l/_PunQCYselWXy
https://dl.doubtnut.com/l/_kLKYGjS1LZ8m

27.Find 196 ~ 2

° Watch Video Solution

28.Find : (9m — 2n)*

° Watch Video Solution

29. Find :(6pg-7rs) ~ 2

° Watch Video Solution



https://dl.doubtnut.com/l/_kLKYGjS1LZ8m
https://dl.doubtnut.com/l/_3wb3PZZC9sXr
https://dl.doubtnut.com/l/_cRHHd6uFNFuu
https://dl.doubtnut.com/l/_hdp04bgKURaQ

30. Find : (52%- 6y°%) ~ 2

o Watch Video Solution

31. Find :292°

o Watch Video Solution

32.Find: 807 ~ 2

o Watch Video Solution



https://dl.doubtnut.com/l/_hdp04bgKURaQ
https://dl.doubtnut.com/l/_9Bu17iGoG8uP
https://dl.doubtnut.com/l/_DkDRUzgf8Nyw
https://dl.doubtnut.com/l/_sBfMUvmiqKMb

33. Find : 7942

° Watch Video Solution

34. (4x + 5y) (4x - 5y) =

° Watch Video Solution

35.Find 407 x 393

° Watch Video Solution



https://dl.doubtnut.com/l/_sBfMUvmiqKMb
https://dl.doubtnut.com/l/_l6qJ7Hy5WE4W
https://dl.doubtnut.com/l/_emd3MIAedVhD
https://dl.doubtnut.com/l/_nVJPX09LAsVA

36.987% — 13% =

o Watch Video Solution

37.Find: (bm+7n) (6m-7n)

o Watch Video Solution

38. Find :(5a + 10b) (5a-10b)

o Watch Video Solution



https://dl.doubtnut.com/l/_nVJPX09LAsVA
https://dl.doubtnut.com/l/_LssGeq8CZOe2
https://dl.doubtnut.com/l/_CbLOpVP2AIRR
https://dl.doubtnut.com/l/_86pI9IjRbh3d

39. Find :(322 + 4y?) (3z2-41?)

o Watch Video Solution

40.106 x 94 =

o Watch Video Solution

41.Find : 592 x 608

o Watch Video Solution



https://dl.doubtnut.com/l/_86pI9IjRbh3d
https://dl.doubtnut.com/l/_y2E4D8zZlQUS
https://dl.doubtnut.com/l/_9Hqn0KgweU45
https://dl.doubtnut.com/l/_hz0YHRg8LMuS

42,922 — 8=

o Watch Video Solution

43. Find :984° - 16>

o Watch Video Solution

44.Find: 302 x 308

o Watch Video Solution



https://dl.doubtnut.com/l/_hz0YHRg8LMuS
https://dl.doubtnut.com/l/_GtzmTz4Z6FSa
https://dl.doubtnut.com/l/_qLFdzQCAmhbf
https://dl.doubtnut.com/l/_D9au5n72Xsz2

45.Find:93 x 104

o Watch Video Solution

46. Select a suitable identity and find the

following products:(3k+41) (3k +4l)

o Watch Video Solution



https://dl.doubtnut.com/l/_D9au5n72Xsz2
https://dl.doubtnut.com/l/_EI21deVz0yW4
https://dl.doubtnut.com/l/_ZU8cX7KavqWd

47. Select a suitable identity and find the

following products:(az®+ by?) (az? + by?)

° Watch Video Solution

48. Select a suitable identity and find the

following products: (7d-9e) (7d-9e)

o Watch Video Solution



https://dl.doubtnut.com/l/_g9kE8LOWjijF
https://dl.doubtnut.com/l/_snQw1Z9OnB4n

49. Select a suitable identity and find the

following products: (m? — n?)(m?+n"2)

° Watch Video Solution

50. Select a suitable identity and find the

following products: (3t+ 9s) (3t-9s)

o Watch Video Solution



https://dl.doubtnut.com/l/_whR1Y34ddUDk
https://dl.doubtnut.com/l/_eZeTYnkoN2ts

51. Select a suitable identity and find the

following products:(kl-mn) (kl + mn)

° Watch Video Solution

52. Select a suitable identity and find the

following products:(6x + 5) (6x + 6)

o Watch Video Solution



https://dl.doubtnut.com/l/_nlZuU4ReJKga
https://dl.doubtnut.com/l/_Dm1wjDBfzijU

53. Select a suitable identity and find the

following products:(2b-a) (2b + )

o Watch Video Solution

54. Evaluate the following by using suitable

identities: 3042

o Watch Video Solution



https://dl.doubtnut.com/l/_VhJDiQVcHhv9
https://dl.doubtnut.com/l/_VBpHARA0eTTK

55. Evaluate the following by using suitable

identities:509°

o Watch Video Solution

56. Evaluate the following by using suitable

identities:992"2

o Watch Video Solution



https://dl.doubtnut.com/l/_OlpVINVpiGBJ
https://dl.doubtnut.com/l/_lVR7pFW41xcp

57. Evaluate the following by using suitable

identities:799 ~ 2

o Watch Video Solution

58. Evaluate the following by using suitable

identities: 204 x 206

o Watch Video Solution



https://dl.doubtnut.com/l/_TJxmb4HibKTw
https://dl.doubtnut.com/l/_QlPKJf9CQf7Z

59. Evaluate the following by using suitable

identities: 83 x 77

o Watch Video Solution

60. Evaluate the following by using suitable

identities:109 x 108

o Watch Video Solution



https://dl.doubtnut.com/l/_cjPRTjoPVP6J
https://dl.doubtnut.com/l/_uqqOt2oCQyUO

61. Evaluate the following by using suitable

identities: 204 x 206

o Watch Video Solution

62. Verify the identity (a + b)2=a2+ 2ab + b

geometrically by taking a= 3 and b= 2.

o Watch Video Solution



https://dl.doubtnut.com/l/_Q4uTyCRNVm7j
https://dl.doubtnut.com/l/_O1m2IMgQOspm

63. Verify the identity(a + b)2 = a® +2ab+b’

geometrically by taking: a=2 units, b =4 units

° Watch Video Solution

64. Verify the identity (a + b)® = a? +2ab+b”

geometrically by taking:a =3 units, b =1 unit

o Watch Video Solution



https://dl.doubtnut.com/l/_rmRWUaEzEklz
https://dl.doubtnut.com/l/_Ir9r9J1eUWiX

65. Verify the identity (a + b)® = a® +2ab+b?

geometrically by taking:a=5 units, b = 2 units

° Watch Video Solution

66. Verify the identity (a + b)® = a2 +2ab+b?

geometrically by taking:a =3 units, b =1 unit

o Watch Video Solution



https://dl.doubtnut.com/l/_e0MYepKrl7Oj
https://dl.doubtnut.com/l/_3Ml6pWvna2Mi

67. Verify the identity (a — b)*=a®-2ab + b

geometrically by taking : a= 5 units, b = 2 units.

° Watch Video Solution

68. Verify the identity (a+b) (a-b)=a’-b’

geometrically by taking.a =3 units, b=2 units

o Watch Video Solution



https://dl.doubtnut.com/l/_HGzlmOiB0AjV
https://dl.doubtnut.com/l/_jEQXOdwmKjn5

69. Verify the identity (a+b)(a-b)=a’-b*

geometrically by taking.a=2 units, b =1 unit.

o Watch Video Solution

70. Which of the following is a monomial?

A 2x +3

o (D)o

C.cx?+dx+e

(- (3


https://dl.doubtnut.com/l/_JW1auh3zze1g
https://dl.doubtnut.com/l/_psVXTmy9Cv4v

Answer:

o Watch Video Solution

71.The degree of 4zy? 2>

A 4
B.2
C.6

D.3

Answer:


https://dl.doubtnut.com/l/_psVXTmy9Cv4v
https://dl.doubtnut.com/l/_0wZkdF0mbBXI

° Watch Video Solution

72.The degree of 322 — 5 + 72> — 6z°

A5
B.3

C.2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0wZkdF0mbBXI
https://dl.doubtnut.com/l/_qbY8KHxMQWKS

73. If A = 5z*+3zy+2y° B = -

2y? — 3zy + 4z° then A+ B _

A.9z° + 6Xy
B. 4y
C.z’+ 4y + bXxy

D. 9:132

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_qbY8KHxMQWKS
https://dl.doubtnut.com/l/_KqnhrGfe0628
https://dl.doubtnut.com/l/_9ABuhqjj3y5C

74. Which of the following are like terms-

t S
A2t,57, - (67)

B. X, 2:1;2, - 7X, 83

C.6p, 7p,(5/2)p
D. 2y, - Z X, 5t
. y’ 3 ’

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_9ABuhqjj3y5C

75.5¢ x ( — 3y)

A. - 15xy
B.-15 z’y
C. 15xy

D. 2xy

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_EIBr0JXiRl5P

76. The product of 5x, 6y and 7z

A.210 (x +y + 2)

B. 210 xyz

C. 18 xyz

D.18 (x +y + z)

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_Df8PDzET4w6P

A. 2 (a® + b?)
B.a2 + b2
C.4ab

D.O

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1WWSdKj6Rt1j

78. The formula involved in the product of

302 x 298

A (a + b)*
B. (a — b)*
C.(a+b) (a-b)

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jkORw5e9Rn5b
https://dl.doubtnut.com/l/_PgrkjsaeacQw

79. Find the product of (3m-2n2) (-7mn).

A.-21m?n - 14m?
B.21m?n - 14m?
C.-21 mn? - 14m?

D. -21m2n - 4mn3

Answer:

° Watch Video Solution

80. 5x (6y + 3) =


https://dl.doubtnut.com/l/_PgrkjsaeacQw
https://dl.doubtnut.com/l/_UTp6crNQm0HS

A.30x +15

B.30x - 15y

C.30x+ 15

D. 30xy + 15x

Answer:

° Watch Video Solution

81. Product of two monomials is a monomial ?

You can check this.


https://dl.doubtnut.com/l/_UTp6crNQm0HS
https://dl.doubtnut.com/l/_rShfVXi48HE1

A. Binomial

B. Monomial

C.0

D. 4

Answer:

° Watch Video Solution

82. (5x + 6y) (3x - 2y) =

A. 8z - 8xy


https://dl.doubtnut.com/l/_rShfVXi48HE1
https://dl.doubtnut.com/l/_l6xXvOijPBRa

B. 1522 + 3Xxy
C. 15z - Xy

D. 1522 + 8xy - 12y°

Answer:

o Watch Video Solution

83. Find the number of maximum terms in the

product of a monomial and a binomial?

A.10


https://dl.doubtnut.com/l/_l6xXvOijPBRa
https://dl.doubtnut.com/l/_VHNDdURFobnh

B.9

C.6

D.7

Answer:

o Watch Video Solution

84.(a + b)*

A a® + b

B.a’ - b


https://dl.doubtnut.com/l/_VHNDdURFobnh
https://dl.doubtnut.com/l/_tLJl2XxvKW16

C.7

D. a2 + 2ab + b?

Answer:

° Watch Video Solution

85. The symbol used for an equation identity is

%
0


https://dl.doubtnut.com/l/_tLJl2XxvKW16
https://dl.doubtnut.com/l/_TyA6beTpPTbN

C. (pic)

Answer:

° Watch Video Solution

86.(a+b) (a-b)=_


https://dl.doubtnut.com/l/_TyA6beTpPTbN
https://dl.doubtnut.com/l/_FBPNxo4hfsBa

D.a-b

Answer:

o Watch Video Solution

87.(a — b)° =

A.a? -2ab + b?
B.a’-ab + b’
C.a’-2a + b

D.a’ - 2ab + b?


https://dl.doubtnut.com/l/_FBPNxo4hfsBa
https://dl.doubtnut.com/l/_4fE4vVWP6JIt

Answer:

o Watch Video Solution

88.(x+a)(x+b)=__

Az’ +(a+b)x+ab
B.z?-(a-b)x-ab
C.z%-ab

D.x + ab

Answer:


https://dl.doubtnut.com/l/_4fE4vVWP6JIt
https://dl.doubtnut.com/l/_jl2vESfI9Hjz

° Watch Video Solution

89. If the equation is true for all values of the

variables then it is called an

A. Equation

B. Identity

C. Product

D. None

Answer:



https://dl.doubtnut.com/l/_jl2vESfI9Hjz
https://dl.doubtnut.com/l/_zvnzvaZIvf0x

90. The formula used in the product of

96 x 104 is

A.(a+b)(a-b)
B. (a — b)*
C.(a + b)*

D.a’-b

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_zvnzvaZIvf0x
https://dl.doubtnut.com/l/_PYQWuQA4HB3z

91. The formula used in the product of 1967 is

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_PYQWuQA4HB3z
https://dl.doubtnut.com/l/_XfoxqfQ5U6Bz

92.9872 — 132 =

A. 974000

B. 79400

C. 14000

D. 14009

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_AYMZcMwmcedR

93. (4x + 5y) (4x-5y) =

A z? - 16y2
B. 1622 -y2
C.16x - 25

D. 16z - 25y2

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_m8H5kJAiqsJL

94.(a — b)> — (a — b)* =

A. 2ab
B.O

C.ab

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PBAlzRScs0Yt

95.a% + b% =

A (a + b)*-2ab
B.a’-b’
C.(a — b)’

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_sKopnZRKk9bm

96.(a — b)* +4ab=

A (a — b)*

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8fFnM8fmEQnq

97.(a — b — (a +b)*=__

A.2a% + b2
B.O
C.4ab

D. - 4ab

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_mAPHBD4t6LoC

98. Degree of 3z2y?z> |

A2

B.3

C.7

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_uFFYoiq1SAHS

99. The value of 22> — 2z* + latx=1is _

A 4

C.3

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_1UWezoRfT8ag

100.a (a® — V%) = _

A a® - b%a
B.a-b?
C.a®-b

D.a-b?

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_3t1lZCzVi1CE

10l.a(a-b)+b(b-c)+c(c-a)=_

A O
B.a? - b’
C.a’ +b?

D.a’+b%>+c?-ab-bc-ca

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FclwyjBQfrmv

102. Evaluate the following by using suitable

identities: 83 x 77

A. 3691

B. 6391

C. 6091

D. 1391

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_dMzm1RtfcCC6
https://dl.doubtnut.com/l/_NGwsg49gHKJQ

103. Evaluate the following by using suitable

identities: 3042

A. 82416

B. 92416

C. 82466

D. 93416

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_NGwsg49gHKJQ

104.(m+n)(m-n) =

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Yb70hrewKvtI

105.9%k% + 24kl + 161> =

A. (9% + 31)°
B.(3k+ 4l) (3k +4l)
C. (3k — 41)*

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_N0BWe7OVsG7A

106. abc x a’be =

A a’b?c?

B. abc?

C.a’b’c?

D. ab’c

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gyme1Qy0bHgB

107.(p + q) (p* — pq + ¢°) =

Ap° +q

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_U5EXFxcLhC2y

108. m? + m’n — n’m — n® =

A.(m*-n?) (m +n)
B.(m-n) (m? + n?)

CC(m+n)(m-1)

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_FRZPJ6zJqMWd

109. (-5p”2)x (- 2p)

A. 1Op3
B. 10p
C.-10p°

D. - 8p3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_PQAFy2h5HGZz

110.922 — 82 =

A. 1400

B. 1000

C. 8400

D. 8500

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_eJs3Sz1uJiWT

M.1=

R
A PT—-
100

B. P /100TR

C.100T / PR

I
D.100—
OOPR

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_LKwLTMH86aqi

112.106 x 94=

A. 9864

B. 9964

C. 9800

D. 9364

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_4HDmC27a0bDj

113. — 322 + 3z — 5x? — %=

C.3z2

D. 6332

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_16DZxzOjuiUJ

114. |dentity like terms.

A. 3:132, 23}2, -2

B. xy, xy2, - 3y2

5 3

D. 8z, 9y2, 2pq

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_xMD28UnWSU61

15.(a + b) — (a — b)? =

A. 2ab
B. 2bc
C.4qa’

D. none

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_oTxSeAbXLB03

116. The value of 3x + 5atx=11is

A.6

B.8

C.9

D.10

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_FZWt5lDDPsdF

M7.a=1,b=2(a —b)*=

D.3

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gWbANvd73kxe

1
118. At x = 2 the value of 2x-1Tis _

Al

B.O

D. 2

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_N133msYlqNfd

119. P = xy, Q =yz, R = zx then PQR =

A. a:zyzz2
B. xy2z2
C.xyz

D. z2y?/2*

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_8tlAjVnZdTVX

120. (522 -6x + 9) (2x-3) =

A. 10:133 - 7:1:2 + 3X
B.10z3 - 722 + x + 1
C.10z3 - 2722+ 7

D. 10z - 27 2% + 36x - 27

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_gEoiO25o101s

121. (3x + 5y) (5x - 7y) =

A. 1522 - 3y2

B. 15x"2 + 4xy - 35y

C. 1522 - 4xy
2
D. 15x - 13xy
Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_JeLaHqZFWO4P

122. Additive inverse of 6z - 4x - Tis _

A z2-6x+1
B.-6:c2+4x-3
C.z2-3x+7

D. (- 622) + 4x + 1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_29LnxHWAaYNU

123. Simplify:

20> + 52 — 1+ 82+ 2> +7— 6z + 3 — 3x°

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jI2IFzat6W22
https://dl.doubtnut.com/l/_3cV5UUTit8VN

124.2a+b-(a-b) =

A.a-b

B.2a-2b

C.a+2b

D.a-2b

Answer:

° Watch Video Solution

125. Degree of O is.....


https://dl.doubtnut.com/l/_3cV5UUTit8VN
https://dl.doubtnut.com/l/_Jx7u7Kg9Q0tF

A.O

B. -1

C.3

D. not defined

Answer:

° Watch Video Solution

126. The degree of any constant term is.....

A.O


https://dl.doubtnut.com/l/_Jx7u7Kg9Q0tF
https://dl.doubtnut.com/l/_xcKHzbCDiGMc

B.1

C.2

D. (-1)

Answer:

o Watch Video Solution

127. (3z2 - 7x + 1) (4x - 4x) =

A. 4:03 -:c2 + 11

B.O


https://dl.doubtnut.com/l/_xcKHzbCDiGMc
https://dl.doubtnut.com/l/_OZpmHyzCQh5V

C.3a:3-7x+1

D. none

Answer:

° Watch Video Solution

128.(x-1) (x + 1) = __

A.:I:2+1

B.a:2-1


https://dl.doubtnut.com/l/_OZpmHyzCQh5V
https://dl.doubtnut.com/l/_V6iwmJzGtkd2

D.x+3

Answer:

o Watch Video Solution

129. Number of terms in trinomial is.....

A.O

B.1

C.2

D.3


https://dl.doubtnut.com/l/_V6iwmJzGtkd2
https://dl.doubtnut.com/l/_HjSMkmr53wDT

Answer:

o Watch Video Solution

130. (\/a + v/b) (va — vb)=__

A. a-b’
B. a-b
C.a’b

D.a+b

Answer:


https://dl.doubtnut.com/l/_HjSMkmr53wDT
https://dl.doubtnut.com/l/_jsli7USZQIMz

° Watch Video Solution

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_jsli7USZQIMz
https://dl.doubtnut.com/l/_SO6Oh6iiluC7

132. Number of terms in ax+bx+c Is=

A2
B.3
C.4

D. 1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_SO6Oh6iiluC7
https://dl.doubtnut.com/l/_GFDd5ESgELLx

133.(a-b) (a® + ab + b*)=__

A.a’-b
B. a-b°
C.a%-b’

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_W7tqmxmevu2T

134. (x+3)(x + 2) =

A. a:2+ 5x+ 6

B. 22-5x-6

C. 22-3x+6

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_Hjj7I2jQiPjW

135.9z2 — y2 =

A. (3x+y)(3x-y)
B. (3x-1) (3x-y)
C. 3xy) (3x-3)

D. None,

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_f9kJi0sNOjrc

136. (4a” — 1)/(2a +1)=__

A. a-1

C.2a

D. 2a-1

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_wiYaCiLNE1OS

137. (3z° — Tz + 9) +0=

A.O
B. 3229
C. 9x

D. Not defined

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_UnIEkqHxBnDM

138.

m2(m —2) + 2m2(m +3) — 6m(m — 4)=_
A. m-24m*
B.m*+ 24m
C.m* +2m.

D. m + 4m?

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wA4pGccttVDx
https://dl.doubtnut.com/l/_YnQmrFzryxyK

139. Cube of (a + 1) is=_

A.a"3+3a”"2+3a+1

B.a+2a+1

C.a+3a+3

D. 3a-3

Answer:

° Watch Video Solution

140.(99)"2=


https://dl.doubtnut.com/l/_YnQmrFzryxyK
https://dl.doubtnut.com/l/_zQpnO5lHCAJu

A. 1145

B. 8900

C. 9800

D. 9801

Answer:

° Watch Video Solution

141.9.8 x 10.2=_

A. 39,55


https://dl.doubtnut.com/l/_zQpnO5lHCAJu
https://dl.doubtnut.com/l/_OceBqU7mUlu0

B. 91.99

C. 99.96

D. 96.99

Answer:

o Watch Video Solution

142. (84)% — (16)%=_

A. 3600

B. 6100


https://dl.doubtnut.com/l/_OceBqU7mUlu0
https://dl.doubtnut.com/l/_lsDGOdTk0pdG

C. 6800

D. 6900

Answer:

° Watch Video Solution

143.1010 x 990 =

A. 999900

B. 99099

C. 99000


https://dl.doubtnut.com/l/_lsDGOdTk0pdG
https://dl.doubtnut.com/l/_ByqzSeWsnHWb

D. 98900

Answer:

o Watch Video Solution

144. (705) — (295)*

A. 23000
B. 13000
C. 140000

D. 410000


https://dl.doubtnut.com/l/_ByqzSeWsnHWb
https://dl.doubtnut.com/l/_XtLAohSCZPzU

Answer:

o Watch Video Solution

145, (x+1)(x-1) (z* + 1).

A. a:4-1
B. 22-1
C. 4x-1

D.x+1

Answer:


https://dl.doubtnut.com/l/_XtLAohSCZPzU
https://dl.doubtnut.com/l/_0kT6H0k2gwUx

° Watch Video Solution

146.8x = (52)° — (48)° then x =

A. 12
B. 50
C.9

D. 26

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_0kT6H0k2gwUx
https://dl.doubtnut.com/l/_WgaHT1VxIAb3

147.13x= (85)° — (84) then x = _

A.16
B. 11
C.13

D.10

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_WgaHT1VxIAb3
https://dl.doubtnut.com/l/_BVlDW0wcM5kH

148. (11+x)(11-x)=__

A. 121-22

B. 121-x

C. 12-22

D. 3x-4

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_bYFeU7gxatSL

149.113° =

A. 1221

B. 1331

C. 1441

D. 1113

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_VV7gkja12hVg

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_8rKKCQOyO1uX

151. (7xy-1)(7xy + 1) = _

A. 4922 3%
2

B. 49xy~-1
2

C.49xy"-1

D. 9xy-1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_qRoUiSEgZu4i

152. The product of two positive numbers is

A.O

B. -1

C. Negative

D. Positive

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_3eMJonbWoO6U

153. Find 3z%y x 4zy® x Tz3y®

A. 84x"6y"6
B. 48y°
C. 41xy"

D. 40:136y6

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ZVVl2NxxTOZj

154. The sum of all exponents of variables in a

monomial is called of the monomial.

A. Expression

B. Degree

C. Like

D. None

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_wl9lq7ySqmVI
https://dl.doubtnut.com/l/_PEkt8z1KZbIv

155. Degree of the trinomial 3xy + 4y-8 is

A2

B.4

C.3

Answer:

° Watch Video Solution

156. 5 X 6y X Tz= _


https://dl.doubtnut.com/l/_PEkt8z1KZbIv
https://dl.doubtnut.com/l/_tV9b7qqgj0iD

A. 2xy

B. 105xy

C. 120x

D. 210xyz

Answer:

o Watch Video Solution

157.1n a cuboid I=2x, b=3y, h=4z then volume, V


https://dl.doubtnut.com/l/_tV9b7qqgj0iD
https://dl.doubtnut.com/l/_wxN5sdeIPxhu

A. 3xyz

B. 2xy

C. 4xyz

D. 24xyz,

Answer:

o Watch Video Solution

158.a(b + ¢) = ab + acis called __ property.

A. Identity


https://dl.doubtnut.com/l/_wxN5sdeIPxhu
https://dl.doubtnut.com/l/_g3xxfoYaoxlo

B. Distributive

C. Commutative

D. None.

Answer:

o Watch Video Solution

159. No. of terms in the product of a binamial

and trinomial are

A4


https://dl.doubtnut.com/l/_g3xxfoYaoxlo
https://dl.doubtnut.com/l/_IiopO3gIHc35

B.10

C.9

D. None

Answer:

o Watch Video Solution

160. a(a + 1) =6 then a=

A2


https://dl.doubtnut.com/l/_IiopO3gIHc35
https://dl.doubtnut.com/l/_3eGEmaoWVsRG

C.-3&2

D. None

Answer:

o Watch Video Solution

161. Taking a, b, c as positive integers, verify the
following whether they are identities or not?

(a + b+ ¢)*=a®+ b?+c?+2ab + 2bc + 2ca.

A (a+b+c)’


https://dl.doubtnut.com/l/_3eGEmaoWVsRG
https://dl.doubtnut.com/l/_Nu74hAYHBvWj

C.(2a —b—¢)*
D. (a — b)°
Answer:

o Watch Video Solution

162.196% — (194 + 2)°=

A.16

B.19


https://dl.doubtnut.com/l/_Nu74hAYHBvWj
https://dl.doubtnut.com/l/_EuTZpatL7jYT

C.19

D.O

Answer:

° Watch Video Solution

163.9672=

A. 93 x 004

B.93 x 102

C.93 x102


https://dl.doubtnut.com/l/_EuTZpatL7jYT
https://dl.doubtnut.com/l/_ydi5DJcy8tX5

D. 93 x 107

Answer:

o Watch Video Solution

164.a(a-b) +b (a-b)=__

A. a’-b
B.a’ — b’
C.a—b


https://dl.doubtnut.com/l/_ydi5DJcy8tX5
https://dl.doubtnut.com/l/_vakxD5NGV7Rn

Answer:

o Watch Video Solution

165.0°> — b* = (a + b)(a — b) is a

A. ldentity
B. Area
C. Place

D. None

Answer:


https://dl.doubtnut.com/l/_vakxD5NGV7Rn
https://dl.doubtnut.com/l/_F6i1QtGPkPCO

° Watch Video Solution

166. (x+a) (x-b)=__

A. 2+ ax-bx-ab
B. a:2(a+b) x-ab
C. z%-ax-ab

D. None

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_F6i1QtGPkPCO
https://dl.doubtnut.com/l/_ScvGXLlM21Fc

167.101% — 101°% =

A. 101

B. 202

C.0O

D. 401

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_ScvGXLlM21Fc
https://dl.doubtnut.com/l/_TowG1cR0CJhr

168. a =13, b=12 then a? — b* =

A.16
B.10
C. 25

D. 12

Answer:

° Watch Video Solution



https://dl.doubtnut.com/l/_BiCIoRF2P9wM

